DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
12NPCB13 | NEET PRACTICE QUESTIONS | %1%
(2023-24) (TEST-13) Total Marks: 240

General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each
incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.
3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15 2. An observer looks at a distant tree of height
10 m with a telescope of magnifying power of
l.In an astronomical telescope in normal 20. To the observer the free appears
adjustment a straight black line of length L .
is drawn on inside part of objective lens. The A) 10 times nearer
eye-piece forms a real image of this line. The :
length of the image 1s £. The magnification of B) 20 times taller
the telescope. C) 20 times nearer
A) % -1 D) 10 times taller
B) %J_r% 2 BLUOUMSHESG  Hmer 20  Q&mevor
Q&memey GBITESH eeTmlermsy 10 LS 2 WFLD
C) % Q&TeO0TL. QHTem6L ST OJHMS 6(H6UT
LUTFeneuuI@S M. LTIeneUW meT(He &
D) o +1 DpSS 6T CHMHDLOTETS!
@@ eumeflley Qsmemev  CrmsSHIulleor A) 10 LDLTBI@ S|[HS 6L
& T8 [T 600 Fremnailey L BerLn
Q&meooTL. Smemowimerr GBI G B) 20 LOLMI& 2_W IS5 60
QUITBETHEG QeveTHeT 2 6T Ieminaiey
QETWLILGSMS!. 85 600T600T(H & C) 20 LOL-M6IG S|(BSH6V
QEVETEFTEUTS @ &5CSIML_LY M & T6oT
QuUNbUSS 2 (HAUTHSRHMS!. D) 10 10LTGI 2 WT&H 6V
KbugEHer BeTd (£ ) eTefley QG Ten6y
CrmeHSHUNeT 2 (BHLIGLIHESLD 3. A wire mesh consisting of very small squares
is viewed at a distance of 8 cm through a
A) % -1 magnifying converging lens of focal length
41 10 cm. kept close to the eye. The magnification
B) 1= duced by the lens is
L—1 pro y
9 % A)S B) 8
D) ot +1 C) 10 D) 20
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10 @Fl Galw STyh Q&ML @
2 BLUOUMSEGL GeleevarRedmbs 8
Q&S Qsmemevalley 2 6Tem FINw TSI
Qg6 3eMDLIL&H6T Q&MeoTL LD 6U6m6V

62 60T M) UMISSELULGRmE.  GeveT&eor
2 _(BLIGLIHE S F) M 60T TeTS!

A5 B) 8

C) 10 D) 20

4. The wavelength of light used in an optical
instrument are A, =4000A°, A, =5000A° then
ratio of their respective resolving power
corresponding to A, and A, is

A)16:25 B)9:1

C)4:5 D)5:4
0, eperfluglwiev SH(malluley
LweTU®SSLILIBID eperfludleor
2| 60)6V1H6IT MBI G5 61T (WPenmE A, =4000A°
MmO A, =5000A° eresfleb A, wHmID A,
aflmameor LNif16) m 6o erfl 6ot aﬁ]@lsﬁg;mrrafrgu

A)16:25 B)9: 1

C)4:5 D)5:4

5. An astronomical refracting telescope will
have large angular magnification and high
resolution when it has an objective lens of

A) small focal length and large diameter
B) Large focal length and small diameter
C) Large focal length and large diameter

D) small focal length small diameter

6 (IH seflaflevaev 6U et Ul 6V
QS Te6VBHITE S YIS @& mevoT
2 BUOUIMSSED WMHmID AHs L& meor
QUOMBHEE  Caler(H el & 6or
QUITHETH S QevedTE: QUMM (H&&H
GeuevoTIq U [B]LITH & 60)60T LI TEOTS

A) GDbES GNWETIn LHoIh 35S
ol LD

B) 91H& GelwgTrh LMHMID GmDmbS
el LD

0 95Hs Galwgtrn wHolh AHS
el LD

D) GmDIhS GeNlWSTILD HMID GemnMbHS
ML L LD

6. An astronomical telescope has objective
and eye piece lens of powers 0.5 D and 20D
respectively, its magnifying power will be

A)8 B) 20

C) 30 D) 40

@M eUmelley Qs memen  GBme S uller
QUITHET(HE& G6LEITEN LOMMILD &5600T600T(H (S
Qevettaseafler HmerdHeT (WemmEul 0.5D
WMMILD 20D eTeofleV BIHT 2 (HLCLIHES
&) D 6OT 0TS .

A)S8 B) 20

C) 30 D) 40

7. An astronaut is looking down on earth’s surface
from a space shuttle at an altitude of 400 km.
Assuming that the astronaut’s pupil diameter
is 5 mm and the wave length of visible light is
500 nm. The astronaut will be able to resolve
linear object of the size of about

A)0.5m B)5m

C) 50 m D) 500 m

afleorsmeusHev 2 6mem  @p  ellevorGeuer
afyy 400 &5 2 WIsH O mbEH SGL 2 6T6rT
Helluler CumurLlienu LUMFeneuulG&mT.
alevor@euefl  efyrfleor  gsevoTLIMemeu Ul 6dT
Ll L1d 5 .S nmHmiD SHevoresmimi sperfludleor,
S|emeuBeTd 500 nm  6TeOTa D G\ 00T L6V
aflevorQeuerfl afypmev LNflgsnwn Grrfluley
QuUMHerfledr 3j6TeumeTs

A)0.5m B)5m

C)50m D) 500 m

8. Diameter of the objective lens of a telescope
is 250 cm. For light of wavelength 600
nm coming from distant object the limit of
resolution of the telescope is close to
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A)1.5x107rad

B) 2.9 x 107" rad

C) 3.0 x 1077 rad

D) 4.5 x 107 rad
@M FTmey CHTHEARUNDT QUITIHETIHGS
QeveT&er el LD 250 cm. Gald 600
nm 3jemev [Hemd Q& mevor.  eperflulmeT s
QSTMVETTSHHV 2 6T QUITH6T160[HH S
ABSHTL QHTemev CBTEG U6t LIS meor
6T6L6DY6V LITEOTS)

A)1.5x107rad

B) 2.9 x 107" rad

C) 3.0 x 1077 rad

D) 4.5 x 107 rad

9. A copper rod of 88 cm and an aluminium
rod of unknown length have their increase in
length independent of increase in temperature.
The length of aluminium rod is

[0, =1.7 x 107 K™ o,,=2.2x 10° K]
A) 68 cm

B) 6.8 cm

C)113.9cm

D) 88cm
88 Q&8 HemupeTer sMAFSSevor(H LMMILD
perg@err WHLIL s lwmg jaudlelws
seoor(h @eummlesr Her allifley QeuliLiBlemev
AF&flemU  FIIHSS 3j6V6V  6T6oilev
2| a1 L0 6071 ULI 55 85 600T L 60T [H6TLOTE0TSS

[0, =1.7x 107 K-! a,,=22x107 K]
A) 68 cm
B) 6.8 cm
C) 113.9 cm

D) 88cm

10. The quantities of heat required to raise the
temperature of two solid copper, spheres of
radiir, and r, (r, = 1.5 r,) through 1K are in
the ratio

N4
B ¥
o) ¥
D) %

r, DOMID 1, (r, = 1.5r,) BT Q&TeooTL @) (H
sy Gammermgertler QeuliLiplensvenud Tk
emallm@ 2 Wiss CoHemeullmer GeullLl
3|66 &6 6T a9 G H LM

NG
B
o) ¥
D) %

11. A piece of ice falls from a height h so that
it melts completely. Only one quarter
of the heat produced is absorbed by the
ice and all energy of ice gets converted
into heat during its fall. The value of h is
[latent heat of ice is = 3.4 x 10° J/kg, g =10

(N/kg)]

A) 544 km
B) 68 km
C) 34 km
D) 136 km
h 2wrs@dehs &6p elwh @G
Lieofl&8L19.5 S1600T(h) (D(WPEISIDTS
2 BHHRANGIPMS. 2 [Heumer QeSS 6T
STLGEH  UellsGasLllquwmey 2 mMlehsll

LUGSBME. Uallsaslly GC alwbeUTs
ST MMV (PUEUSID  QeulILLDTS
LTHOULUGSMS. 6Tevl60 h-60T LDG) LTS
[UeflaLl1Iquiledr 2 6TEBemM
=3.4x 105 J/kg, g = 10 (N/kg)]

Q@euLILLD
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A) 544 km
B) 68 km
C) 34 km

D) 136 km

12. Tow rods A and B of different materials are
welded together as shown in figure. Their
thermal Conductivities are K, and K, The

thermal conductivity of the composite rod
will be

ENONNNR\
Nty

A) 3(K +K%

B) Kl%‘KZ
C) 2(K +K.)
D) K.+ K,
QeueuGeum  QUITHLGETTEL aheolr A
oMb B eteotm @ eoor(h  &Hevor(h &6
LULSH STLIguleTerelmml  LMHmenelsH s
@) 6060078 85 L1 LIL_ () 6iT6Te0T 3leumnil 6ot
Qeuuua'sasl_&,gu S\ M 6OTS 6T (WemmGul

K, wooinn K, 6Teofl6L @) 6mr6v0rL L Qumm
aall_@\g,gjswr&em QeaulILGSL G5 Hmeofleor
LG LILTeoTS

S ANy,
Aty

A) 3 (K, +K%

B) Ktk

C) 2(K. +K)

D) K, +K,

13. A black body is at 727°C. It emits energy at a
rate which is proportional to

A) (1000)* B) (1000)?

C) (727 D) (727)

@ SIHLD QUTIH6T 727°C QeuliLplemsuuiley
2 6TeMgl. 3H60T WMmeV GQeueflall(h afsd
Nemeu@d TG LUNDEG CBhIsHHalsu
lemlou]Ld ?

A) (1000Y* B) (1000)?

C) (727 D) (727)*

14. A black body has maximum Wavelength Am
at 2000 K. Its corresponding Wavelength at
3000 K will be

A) %Am B) %Am
C) $8am D) 8% am

@[ SMULOUTIHT 2000K QeuliLmlemnsuuiley
3|BHET GQLIBHLL 6MEUHBETID Am Q& T6voTL
SE\JeigFang Qeuerfladll_Lmev 3000K
QeuLlLBlemevuiley &5 (HLD QUITHET
Qaueflall(hLd &H e & 6ot 216mev HeTL0meoTS

A) 52m B) % m
C) 28m D) 8L am

15. The two ends of a rod of length L and a
uniform Cross Sectional area A are kept at
two temperatures T1 and T2 (T1 > T2) The rate
of heat transfer dQ/dt through the rod in a

Steady State is given by
dQ _ K(TL—Ty)
A)qt = 1A

B) % — gra(r—1)

dQ _ KA(T,—-T)
O g = L

dQ _ KL(T,—T)
D) = A
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Frmer MGG Qeall(h Ul A MHMILD
L Berld QomevorL Hevor(h). epedTiledT @)(H
(LPEDIGOTEGIT T, LOMMILD T, (T, > T,) 6T60T M @) (H B 6u Q)
QauliLmlemeuuiley 6M6UGH G LILIL (h 6IT6T60T.
Blemeuwlmeor Blemevuley SHevoriqedr UG
Qaeulil ufliommmd e uwjd efsld dQ/dt
60T LD LILIT60TS)

dQ K(L,—T)
A) gt = IA
B)%=KLA(T1—TQ)

dQ KA(T,—T)
Oa~ 1L

dQ KL(T,—T)
D)q = A

CHEMISTRY Q.No. 16 to 30

16. Carbon (Graphite) acts as an abrasive and
also as a lubricant due to

A) SP? hybridisation

B) Vanderwaals force

C) strong chemical bond

D) All of these
SITT LG (BT TenLIL) 3460TSI 2_FITUl6] oM MID
2 WeLl OQurr@aTrraa Q&F W6V LI(H 6UGH M & IT6OT
&ITJ600TLD

A) SP? @)60T&H&H6VLIL|

B) eumevorL_[J eumeveny ellemd

Q) euedlemin A& CouB LiLNemevorLiL]

D) &{6m6uTS&iLn

17. Aqueous solution of which of the following
boron compound will be strongly basic in
nature

A) NaBH,
B) LiBH,
C) BH,

D) Na,B,0,

GlpsmeooTL eHES  Gumymestleor  Brflwss
FHNTF6 HITIHH TN 2_60)L_UISI?

A) NaBH,
B) LiBH,

C) BH,

D) Na,B,0,

18. Choose the correct stability order of group 13
elements in their +1 oxidation state.

A)Al<Ga<In<TI

B) Tl <In <Ga <Al

C)Al<Ga<TI<In

D)AI<TlI<Ga<In
136u5 QBHTSGS & 607110 M1 &5 6rfl 60T
G Carmm  mlemevulledr  BlemevliLs
SerememWLll  QUMTMBSEH  Fiflwmer  +1
AU5F2Carmm alflenFanl CHTa] Q&UIs.

A)Al<Ga<In<TI

B) Tl<In <Ga<Al

C)Al<Ga<TI<In

D)AI<TI<Ga<In
19. Which pair of oxides is acidic in nature.

A) BeO,, CaO

B)B.O

,0,, Si0,
C) Ca0, SiO,
D) N,0, BaO

6THhE UGHMFH @) 60600TH6T (pair of oxides)
U6V E SeTemLD 2 60 WLISI.

A) BeO,, CaO
B) B,O,, SiO,
Q) Cag, Sio,
D) N,O, BaO
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20. The element that does not show catenation 1s

A) Si B) Ge

C) Sn D) Pb
FmIS e QS TLITE S8 5 60 60T
QauefllIL(R& S TS Sevflnld

A)Si B) Ge

Q) Sn D) Pb

21. The Green colour produced in the borax bead
test of chromium (III) salt is due to

A) Cr(BO,),

B) Cr,(B,0,),

C) Cr,0,

D) CrB
Gumrmgeny  eoofl  uledley  GGrmudlwin
(1 &ug LFME BIM&SMS SH(IH6US M TeoT
&ITT600T LD

A) Cr(BO,),

B) Cr,(B,0,),

0) Cr,0,

D) CrB
22. The amorphous form of silica is

A) Quartz

B) Cristobalite

C) Tridymite

D) Kieselghur
Fe9Eamalle LIS aUlelldMmm SjemLDLIL]

A) G6UTITL6MN

B) G flervGLTLIem6vL

Q) LemJIqeminL_

D) W &HQFVSHI

23. The one that is extensively used as a
piezoelectric malarial is

A) Quartz

B) Amorphous silica
C) Mica

D) Tridymite

68 WwsSsWleT  QUMertley
LweTUOSHmaEI?

L (hLD

A) G6UITITL6

B) LIQ& 2 Heulnmm Fledl&am
C) MG &HIT

D) LemJIQ6mLOL

24. Which of the following sets of quantum
numbers is not allowed?

A)n=3,1=2,ml=0,s=+1/2
B)n=3,1=2, ml=-2,s=+1/2
C)n=3,1=3,ml=-3,s=-1/2
D)n=3,1=0,ml=0,s=-1/2

GG Q&EMOH&ESLILIL(BHETET (G 6UTeoorL LD
6TE0OTSH 61T 16V FMHHUILD @)VEVTH S

An=31=2ml=05s=+1/2
B n=3,1=2,ml=-2,s=+1/2
On=31=3ml=-3,s=-1/2
Dbn=3,1=0,ml=0,s=-1/2

25. In the sixth period, the orbital’s that are filled
are

A) 6s, 5d, 51, 6p
B) 6s, 4f, 5d, 6p
C) 6s, 6p, 6d, 6f

D) 6s, 51, 6d, 6p
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6-10 auflemsuilev, o FLIL L MeL&6T BlFDLLD
aliflens?

A) 6s, 5d, 51, 6p
B) 6s, 4f, 5d, 6p
C) 6s, 6p, 6d, 6f
D) 6s, 51, 6d, 6p

26. The region in the electromagnetic spectrum
where the Balmer series lines appear is

A) Microwave
B) Infra red

C) Ultraviolet
D) Visible light

6oT&MHS BlImWTemnevuiley 61hs LGS ullev
UMl Q&ML euflseT G meaormISmsI?

A) IB1600T 2|60)6V86T
B) &I15F FleullL]

O Um 2e15m

D) & 6u0Tem01 M 6R6rf]

27.Azimuthal quantum number of Valance

electrons of Ga™ is (Atomic number of
Ga=31)

A)1=0
B)l=1
C)1=2
D)1=3
Ga*' 9l weoflulledr (9) 6v)600T S\ (D 60T

6T6VE LT 60T 61Tl 60T (&6 T600T L_LD 6T600T LOG)LIL
(Ga - 60T 2|600) 6T600T = 31)

A)l=0
B)I=1
Ql=2
D)l=3

28. The number of subshells associated with n =
4 and m = -2 quantum number is
A)4 B) 8
C)2 D) 16
GGUTEOOTL_LD  6T60OTSH6ET Nn=4 LOMMID m=-2
&H& 2_6UTLITT Slemeoorss  Fn (b Serfleor
6T600T600T 1 &>60) 85 6T60T60T?
A)4 B) 8
C)2 D) 16

29. The total number of orbitals associated with

the principal quantum number 5 is.
A)S B) 10
C) 20 D) 25

(NG EOTEMILD  (GH6UMEOOTL_ LD  6T600T 5-6V 2 _6IT6IT

QLTSS LTI LTeLE 60T 6Tev0T600T 860085
A) 5 B) 10

C) 20 D) 25

30. If the principal quantum number n = 6.
The correct sequence of filling of electrons
will be

A)ns - np — (n—-1)d —» (n-2)f

B)ns = (n-2)f — (n—-1)d = np

C)ns — (n-1)d - (n-2) f - np

D)ns —» (n-2)f = np — (n—-1)d
(LNSEOTEMLN GH6UMTEOOTLLD 6T600T N=6 6T60TMITEV
6T6VE LT IT6OT S 60) 61T Bl L1L6U & M & MeoT
Frflwmeor eauiflens
A) ns — np — (n-1)d — (n-2)f
B) ns — (n-2)f — (n—-1)d — np
C)ns — (n-1)d — (n-2) f —np

D) ns — (n-2)f — np — (n-1)d
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|  BIOLOGY (BOTANY) Q.No.31t045 |

31. The available biomass for the consumption
to heterotrophs is

A) Gross Primary Productivity
B) Gross Secondary Productivity
C) Net Primary Productivity

D) Net Secondary Productivity

FTILL LS T I FH6T B&IANG

R0 L_5&H&HI QW 2 UNFlEH 6T

A) QOMSS NG6L Blemev 2 HLISS &S M6t

B) QLTSS @) [T600T L_ITLD 151 60)6V

2 HUSHSH MedT
C) BI&T LPS6L Blemev 2 MHLIGH &S medr

D) Bl&T @) [J600T L_ITLD 1616076V

2 HUSH B meor

32. Find out the wrong statements from  the
following:

I. Pyramid of biomass in sea ecosystem is always
upright.

II. Increasing pH may not affect the

decomposition process

III. Pyramid of energy in forest ecosystem is
spindle shaped

IV. Connection between detritus food chain with

grazing food chain may form Food Web.
A) LIL IV B) LILIII

C) IV only D) I and IV only

LD 55856007 L_6UMMIGT &6UMITET Jo MM 6T
&evor LMl U6y LD:

l. BV @GLpevlneoorLevsHer 2 uliflgS 6T
oLl et iGUMSILD GHTeoT S

. A& 5 560 QEFWeL(LNEM pH
T &FLLSTL LITHLILIEN L 6USH 60606V.

lll. QUEOTE@BLP6V  LDEOOTL 6VSHT  pMMeV
Nrdl sHiflemlp allgalsH6e0 2 6TeTg)

V. DL GLQUTHET 2 6ooTe &5 mISH 086G
GLUIFF6 D _600T6) & & 1§ 6018 G LD
2 6TeMT  QSMTLIL 260016 6UMHEVEDIL
2 (HUMHGHMSI.

AL IV B) I, 11, 1N

Q) IV o (®ILD D) | LM ayLD IV

L (LD

33. Statement I: Decomposition is a process in
which the detritus is degraded into simpler
substances by microbes

Statement II: Decomposition is faster if the
detritus is rich in ligin and chitin.

A) Both statement I and Statement II are
correct

B) Both statement I and Statement II are
incorrect

C) Statement I is correct but statement II is
incorrect

D) Statement I is incorrect but Statement II is
correct.

Fo DO I F e S5 56V 6TEOTLI S
G\ 60 55 61| 5> For 6T TR G5 61T 5l 6voree Ul [f] 85 6T 6L
FensES5LILIGBI6US LG LD.

oM I ) 6t & 61| & T 6T I G5 67T 6V
dGeofledl  LDMMID &L IQ6T H&HIDMS
@HSTL FeMFHHN BlHLDe CelsmHLNTS
H60 L LG LMILD.

A) &amm [ nmmib gammi I @ revor(p)Ld &yl

B) Gamm [ wmmilh sgmm I @reor(hid
SHelm)

Q) Sammi [ &Fifl MM Fammi 1T Heum
D) Famm I Heum Inmmild Fammi 1T &ifl

34. Which of the following are detrivore

1. Earthworm 2. Green plants

3. Fungi 4. Hawk 5. Lion
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A) 1,2,3,4 only
B) 1,3,4 only
C) 2,3,4 only
D) 3,4,5 only

LYl edT6u (1H 6 (D 1 6T Fle0) B L1L16D) 61 5560 61T

&6v0r LMl U6 LD:

1. LDGOOT L (LD 2. LIS HSITEU I M8 6T
3. LLGHEMF 4. LMBHS 5 FmsLD

A) 1,2,3,4 DL (BLb
B) 1,34 0L (AILD
C) 2,34 LB
D) 34,5 oL (AILD

35. What type of ecological pyramid would be
obtained with the following data

I. Secondary consumer : 220g

II. Primary consumer : 120g

II1. Primary Producer : 70g
A) Inverted pyramid of biomass
B) Pyramid of energy
C) Upright pyramid of numbers

D) Upright pyramid of biomass

fereu@pld  Sreyssefledr  oqLliLemLulev
R S55I6LMIND @GWlwey LNl eTedTeor?

. @ evor LITLDBlemey H&HTGaUTH : 2205

Il. (p&eVBleme Hm&HTCaUTH : 1205

ll. (NS 6VBlem6L 2 MUSHIWITETH : 708
A) e o ulNflgS rer LNyl
B) @,mmeL LNyl
C) GBIy menT eTevoTev0l 186008 LIyl

D) Gpymest 2 ulfl&S rer LNyl

36. Which one of the following types of organism
occupy more than one trophic level in pond

ecosystem
A) Fish
B) Zooplankton
C) Frog
D) Phytoplankton
LY eTeu(peuemeaummieT  6THS 2 uWilifleorLd
& 65 GLO6V LD 60T L& &) 6V 62 60T MI 5 (G LD

TG 0MeoT 26 L0 L SH6V @) (H&GLD?
A) LedT
B) @ LI 6T &s 60T
C) eUemarT
D) eI GLITLI6ITIT I &L 60T

37. The amount of living materials present in a
population at any given time is known as

A) Standing Crop
B) Detritus
C) Humus

D) Standing state
@ 2 Wiflard sl LiHev @ GmILLNLL
HTVEH  SmeoorlIL@GD 2 uliflserfleor
{66

A) plemeugs 2 WIl&65MTESLIL

B) emsLILIena

O) DL G LIQUITIHET

D) Blenevs s Hleteu
38. Identify the wrongly matched pair

A) Warburg effect — Inhibitory effect of O,

B) Emerson — Presence of two photosystem

C) Van Neil — Photolysis of water

D) Stephen Hales — Father of plant physiology
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9) 60)600T6 LI &>

UMM QUTBHH W

&6v0T LMl &H

A) eUmTFLITS allemere] — 21,8 600183607 & (B LIL
aflemerTey

B) eTLD &6 — @ Uevor(h  BIM  jeminLiL]
QFWeLLI(H&H6V

Q) aurmedT HEL — eperflFmy BFLIGLIL
D) 6nvLe LI6oT
QaMmeELEN — &MeU TG & Wi edl W edl 6ot
BHeNS

39. Stroma in the chloroplast of higher plants
contains

A) Chlorophyll
B) Light dependent reaction enzymes
C) Light independent reaction enzymes

D) 80s Ribosomes

o WM mer L1 &+ 61 86001 & & 55\ 60T
VLG mnmedlev &mevorLiLI(Bleusi

A) LIFem & WD
B) sperflF ML eflem6or QBT &6
Q) sparfl FMyLMM 660 60T QBT & 6iT
D) 80s emJGUIMTGF MO & 6T
40. Identify incorrect pair(s)
I. Nostoc - Phycocyanin
II. Volvox - Chlorophyll a and Chlorophyll b
II1. Laminaria - Chlorophyll a and Chlorophyll d

IV. Polysiphonia - Chlorophyll a and
Chlorophyll c

A) III only
B) IV only
C) Il and IV only

D) I and III only

SEUMITEOT () 60)600T (5560 6IT)60ILIE &>600TL_ M5

l. BITEIVLITE — 60 LIS B8 TS U 6vfleoT

. QUITELEUITE 61V - UFFWID a LmmID
L&Fem&FWLD b
. eor@eorflwm - UFeMHFWLD a LHmID
L&en& Wb d
IV. LimeSlem&Guimenflwim - LUEFm&FWILD
a LDMMILD
LUFeM&WLD ¢
A) Il L @GID
B) IV LOL_(AILb

O Il ommild IV L (LD
D) I nmmiid 11l LoD

41. Identify the correct order- movement of
pigments from top to bottom in paper
chromatography

A) Chlorophyll a — Chlorophyll
Xanthophyll — Carotenes

b -—

B) Carotenes — Chlorophyll a — Chlorophyll
b — Xanthophyll

C) Carotenes — Xanthophyll — Chlorophyll a —
Chlorophyll b

D) Xanthophyll — Carotenes — Chlorophyll b
— Chlorophyll a

B UGLIUTWIeSSTET  GFMEemeotuiley

Blmd&erfler maFellev GENHS HLomeor
grilwmesr eurflem&uflemeor & 6vor L5

A) LUEFM&FWLD a - LUFemEFWILD b -
FrbHBH TSNV — HCIITL60TE 6T

B) &GO MY 60T&H6IT— LIF6M& UILD a— LIF60FUILD
b-&omHCHMSLI6L

Q) &M eTsHeT - FMHCHMTSLIL -
UFMFWLD a - LUFMFWLD b

D) &GS MeLI60 - &HGIMQETHT -
LFen&FUWLD b — LFemFWILD a
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42. Light, which is least effective and most
effective for Photosynthesis respectively

A) Green and Blue
B) Green and Violet
C) Red and Green

D) Green and Red

RefFCHFTHMEHEG GHMMEITs LDMHMILD
SH &ML LT eerfl&e (wnenmGul

A) UFem& lnmmib Hevld
B) LFen&F LDMMILD 26T
Q) AauliL LDHMILD LIS
D) LUFeM& nMHMILD FeuliL]

43. Assertion (A): When monochromatic light
of longer wavelength (far red light) is
supplemented with shorter wavelength of
light (red light) red drop is recovered.

Reason (R): Enhancement of photosynthetic
yield due to combined effect of both shorter
and longer wavelength.

A) Both A and R true and R is the correct
explanation

B) Both A and R true and R is not a correct
explanation

C) Ais true and R is false

D) Both A and R are false

Fammi: (A) BeoorL oemevBerid Q& mevorL
@ememm BIMm eeflenw (QFHTemevFFaILIL])
GG W emevBerid Q& mevor sperflu]Leor
BFlauliL]) @emetTHS QFNGSID  CUTSH
Pl efpsd FslloFLWLILGHMSI.

&Myeoorld: (R) GoSW  wmmib  Hevor
SlemeuBerld Q& meoor. @)\ Tevor(h 66l emerr

©)60)600T&H S QFWeLLI(HSHSILCUTSI
GULUMSSLILIL L Qe lFCFIHmMo
JOUOH DS

A) A Mo R @pesor(h &l R srflumeor
aleT8&LD

B) A lnmmIh R @pevor(h &rfl R &rflwmer
lem& &L {606V

Q) A &rfl R eumy
D) A LommILD R @ Fevor(hLD &euml

44. The wave length of photosynthetically active
radiation (PAR)1s

A) 400 to 700 A
B) 300 to 800 nm
C) 400 to 700 nm

D) 40to 70 A

Q6 lFCHFTHMGFT QFWELH MedT
HHTTEFEHGHG 2.5bHF emeuBerd _

A) 400 to 700 A
B) 300 to 800 nm
C) 400 to 700 nm

D) 40 to 70 A

45. Minerals involved in the Photo-oxidation of
water

A) Mg, Fe, Mn
B) Mn, CI, Ca
C) Mn, Fe, Ca
D) Mn, Mo, Ca

1B rfleor ep6rf] L8 60 6eTMME H 6L
LIMIGQLMILD &60f]LNMmIG6T 6Temeu?

A) Mg, Fe, Mn
B) Mn, Cl, Ca
C) Mn, Fe, Ca

D) Mn, Mo, Ca
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| BIOLOGY (ZOOLOGY) Q.No.46to 60 |

46. Match the following columns and select the
correct option.

Column-I Column-II

a) Clostridium butylicum (i) Cyclosporin-A

b) Trichoderma
polysporum (11) Butyric Acid
c) Monascus purpureus  (iii) Citric Acid
d) Aspergillus niger  (iv) Blood cholesterol
lowering agent
a b C d
A) i 1\ il i
B) ii i v i
C) i il v ii
D) iv iii il i
Q&THSHELILIL (heTeT Q& TSH T &eme6T

QUMD Fiflwmer allemLenul CaHIHASM).

QETGHS -I QETGHS) - I

a) Sermervlq fliguiln
Nuigedssin
- (i) & & CearmervGLmifleor- A

b) 196 T&HECHTQLITIOM
umeSlev@urgld - (i) w L iflé 9jidlevid

) GLOITEOTITENV & 6N

uguflwey - (i) PLfls 9udlevld
d) @penLIFedleLeuen
BRI - (V) QU&HS CHTEVEVLTT6V

GHMMEGLD B5TIeot

a b C d

A) iii iv ii i

B) ii [ iv iii

Q) i ii iv iii

D) iv iii ii i

47. Large holes in Swiss cheese are due to the
production of a large amount of carbon
dioxide by which bacteria?

A) Leuconostoc mesenteroides

B) Lactobacillus bulgaricus

C) Propionibacterium shermanii

D) Sarcina ventriculi
6THS LIMG LR FIWIT 25 & 3|66 &ITILI6OT-60)L_-
QLS 2 MLSH Q&FUIaISTeV eruailen
LmeumenL &L 1q8&6flev  QLIHIH S 6meTd 6T
e LI ([ &) 60T M 60T?

A) SW,C&H BTV TS LG &F60TLY. [JITUIL_6M

B) TS CLTCLIFv6v6y LIVBSHIflg 6

C) UGrmulGwmesflums e flwib
Q6 FLDOM6vT |60 WL

D) &6t Q 6uedrL_ifl@e6d

48. Conversion of milk to curd improves its
nutritional value by increasing the amount of

A) Vitamin A

B) Vitamin B12

C) Vitamin D

D) Vitamin E
Umemevsd SWIgms WmHmIeUsSeT  eneuld
@)\ & 60T oa1 | FFGH I LSLIL|E 6T
G UM &S L1 (R &) 60T m 60T

A) emeul L LdledT A

B) emeuL L LoledT B12

C) emeul_L LAledT D

D) emeuL_L LAleoT E

49. Biological treatment of sewage involves the
use of bacteria to break down organic matter.
What is this process called?

A) Filtration process

12

B) Chlorination process
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C) Sedimentation process

D) Activated sludge process

&le BT o uilrflw F5H&FLLN60
umsleflwumeneul! LweTUB &S
&Il QUTHBLEHMET  FenHHHNH G

2 GTMTLEHW @FQFULUNENM  6TeleU T
MP&ESLILGSRmSI?

A) 119 &L (HH6V QF ULV LNM
B) &CemmiflGeTmMLD Q& U6V (DM M
Q) UIQUW6em6USHH6V G1&F UI6V(LNEmM

D) QFMleyl LU L&EF(H Q&WeuLnemnm

50. During sewage treatment, biogas are
produced which includes

A) Methane, Hydrogen sulphide, Carbon
dioxide

B) Methane, Oxygen, Hydrogen sulphide

C) Hydrogen sulphide, Methane, Sulphur

dioxide

D) Hydrogen sulphide, Nitrogen, Methane

&0l6y B & 55 &1L 6ot Gurmsl
2 HUSHWMGSLD 2wl aumujedlev
&HTeooT LILI(HLD 6UITU|& &6

A) IS5CHET, ML TR6T  FeuSHmML®D),

&ITIJLIGOT-60) -2, 8 606NV (b)

B) IS5BH60T,  2L,&EMIN60T,  ememL_[Fe36T
Feu&emLI(H

Q) emamL IRer FsmUE), LSECSHET,
FLSUT 60 35606100

D) QML JRT FeusemL), 60IHL_ 60T,
158 G55 6T

51. Assertion (A): Cyclosporin A acts as a ‘clot
buster’

Reason (R) : Cyclosporin A suppresses the
activation of B-Cells in our body.

13

A) Both A and R are true and R is the correct
explanation of A

B) Both A and R are true but R is not the
correct explanation of A

C) A is true but R is false

D) Both A and R are false

FaMMl : MEFHGETTEVGUMl6T A 6(H ‘SL1q
Flen s LILMeTTS QF WGBS

) FS5GemmervGumifledr A
HLO 2 Ledlev o eiTer B-Q &6 & 6rfledr
QEWeLTLemL & 5H1&EH M.

A) Famml WHMID &SMFeoorid &ifl, Gevid
&ITJ6oor LD FoMMl6oT Fiflwimest edl6mg &L

B) SaMMI LDMHMILD &TIeooT(NLD Fif] 24,6076V
SMeoTld FaMMIMG Fiflwmer ellemg g0
@) 6V6EmI6V

Q) Ba MM Fifl SLEOTITEV SITTE0OTLD &6 m!

D) MMl DMHMIID S&HTJevord @) Teoor(hGLo
SHelml

52. Which one of the following pairs is wrongly
matched?

A) Lipase - Detergents

B) Pectinase - Bottled juice

C) MHETase - PET plastic

D) Streptokinase’- Immunosuppressant

G LD G 600TLaUMMIGT SRUMTH QLITIHHS) U 6T6rT
@) 60 600T 617
A) emeLBLIN -  FevemeULl QLIMTIHL 86T

B) QUISGIQGeoTeny — L IQUINL6MLEBLILIL L
Fmml
C) MHETase -  PET Qp&ILA

D) 6L QFLIGL Ten & G6oTen - GBI
SHILILITMHMEY
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53. When a patient is admitted to the hospital with
a myocardial infarction, they immediately
receive

A) Streptomycin

B) Penicillin

C) Streptokinase

D) Statins
@ Gmimulmertl LOTIemLLILIT6V
m@g?gjeumemmuﬂep DG GG LILIL LTV,
S|6U 2 L 60T WM& GlLIMIeUSI?

A) VR LIGL Men DG 60T

B) @\ L1601 &) 60l 60T

C) eVEITLIGL e & GevTerny

D) 6V GL_L_1q 60T& 6T

54. Which of the following causes and increase in
sodium reabsorption in the distal convoluted
tubule?

A) Increase in aldosterone levels
B) Increase in antidiuretic hormone levels
C) Decrease in aldosterone levels

D) Decrease in antidiuretic hormone levels

LYl edTeu (Heu6oTeUM MIET 678 C&UIEmLD &t (TH600T L
GLmuiley GComguwih Wer 2 nlEha5emn6y
2B &f&EHDS?

A) 8L6VBL MBI TET 366 &5 560

B) @uetTqemLW,ifligs ammjELOMeT |66
2B &S 560

C) @L,6LBLITENVIC G ITEIT 66 (&H6MM 6V

D) @b6oTiqemLWifligd ammIGLOMeT 2| 6Ta)]
GODS6V

55. Match the items given in Column I with those
in Column II and select the correct option
given below:
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Column | Column II

a) Glycosuria 1) Accumulation of uric

acid in joints
b) Gout i1) Mass of crystallised
salts within the kidney

c¢) Renal calculi i11) Inflammation in

glomeruli

d) Glomerular

nephritis iv) Presence of glucose in
urine
a b c d
A) il ii v i
B) i i il v
C) i iii i v
D) v i i il

auiflens -1 eowl, euiflens - 1l 2 L 6T QUITHS S
Frfliumer a@BLILISNS G556 Q&FUIWe|LD.

aflens -| aflens - I
a) BemeTCam & Flwm ) epL_(h serflev
wiflés 9jdlevin
LIlg 6u &)
b) Qserl. i) b rssH m&erT
&ITeoor LILI(HILD LG8
o Liyserfler QMm@
c) If60T6L &IT6V(E6V6MN
EBrs sMHos6) iii) GeTmHeverilev
gOUGLD
2PMHE
d) B eTmmEeurT
QB&LIEmT g6 iv) A oBifley o155
&EBE&CSHTeN
a b C d
A) iii i iv i
B) i ii iii iv
@) ii iii [ iv
D) v i i ii
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56. Which hormone deficiency is associated with
diabetes insipidus, a disorder characterized
by excessive thirst and urination?

A) Insulin
B) Aldosterone
C) Antidiuretic hormone

D) Parathyroid hormone

9Hs& HMHL LOMWL AHS Faouby

QeueflCWMMIGNIEG &5 T[T 600T LO T60T
60) L WITLILg 6NV @ 6T FILI L6 6TH &
QT GLO M6 G&emMUTL (B L6dT
Q&HTLIL6emLWSI?

A) @) 6018+69 60T

B) &,60GLMervIe Gy meor
C) QL60TIQ 6ML_ULTI9.8 @MITHGLATeoT

D) LUTFTen ST MU mITFGLOT6oT

57. Which of the following is a primary symptom
of a urinary tract infection (UTI)?

A) High glucose in the urine
B) High ketone products in the urine
C) Blood in the urine

D) Excretion of protein in the urine

Kereu@@eusoteumnley  SmuBy LTSS
QETMMI6T (UT) (nS6oTemin MG M 67817

A) A mibiflev 915 & &EHaECssmen
B) S1uBiflev 2H\s S GL 6T QILIMTIHL_G6IT
O S obifle @rssn GealeflGumige

D) B iflev Lps b GeueflGulmig e

58. The renin-angiotensin-aldosterone
(RAAS) is activated in response to:

system

A) Low blood pressure
B) High blood pressure
C) Elevated blood glucose

D) Decreased heart rate

Q y6uf 60T -4, 65 F) G U TG 60T &) 65T -~
9L6VGLMerVIe Gy 60T Sl6MLOLIL (RAAS)
@smeEG uGallenear Ll (S16VkEi&60)
alem & W6l QFWeLLIGSSLILOGSH M

A GODHS QISS A(WSSLD

B) 2 W QUHS A(WSSLD

Q) 2wy @U&S &EH&EEHTe

D) @&WS Sl LIL| GOS0

59. What role does the macula densa play in
renal regulation?

A) Blood pressure sensing

B) Regulation of glomerular filtration rate
(GFR)

C) Acid-base balance

D) Electrolyte reabsorption

FObrHEsSmS RWRIGLGO SHSIUH 6V
LDITE G 6VIT Q\L60TerVmeNl6dT LiMiE?

A) QUHS S(WDSHSHMS 2 600T[JH6V

B) GeTm@evTy  eulg&L (B 6f%5 8 5 6ot
(GFR) &L Laum@)

Q) 906V-BMIS SHeoTemnulledT FLnHlemev

D) 6T QUTIBL&6T (Electrolytes) LO6T
o2 MlehFLIL{H &6V
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60. Human urine is usually acidic because
A) Excreted plasma proteins are acidic

B) Potassium and sodium exchange generates
acidity

C) Hydrogen ions are actively secreted into
the filtrate

D) The sodium transporter exchanges one
hydrogen ion for each sodium ion, in
peritubular capillaries

@ WievLImeoT Blemeuuiley LD 6071 &5 60t 60T
@U55556v W, lwimeiler oemey &My

A) QeueflGwmmLIL@ILD L eTmeruLnm
LTS MBIG6T L0608 5 6Tem LD 68 T600T L 60)6)

B) QUL LITHIWLD LOMMILD G&FMIQUILD
ufllormmLn 21816V 5 & 60T60) LD 60) LI
2 (HUMHGHMSI

Q) L JReT uell&6r allgH TeussHev
FaTIOMS 5788 L1LI[H G 6dTmeot

D) LM 5I600T& L0 6V &6l 60 GFITIQUILD & L& &) &5 6T
@IQaIM®m  Comquwld  weflé@ln
QRM el rhar  juwell LFlnrbmi
QEFWIWLILI(B & 6T 60T
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